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Q1. Choose the correct answer. 1X10=10 ) L gerneieli? e Je.1 Ay
1. When we kick a stone, we get hurt, This is due to: ;éﬁ?,JJ;_QL”;Q,,W:‘?}%YL/L/,ZLugk,f/?;%(;(c_.). A
Reaction J* . (D) Momentum (‘”5 +»(C) Velocity (5"vs (B) Inertia (21 (A)
2. An object will continue its motion with constant acceleration until: ] fj_ﬁgé s /(?_n,f 76 ;L,L‘_.ﬁ /R{uub{ (’ d S22
(D) Conbs foken i S0 (C) L sz S (B) Lnls fitnt U (A)

st 4 Shssw J JIus e Theresultant force on it begins to The resultant force on it is zero The resultant force on it begins to

Z b increase decrease

The resultant force is at right angile
to its tangential velocity

3. Which of the following is non-contact force? e B s e S oisr B

Tension in the string 3% (D) Electrostatic force (8 s 41 (C) Air resistance =7 » {1 (B) Friction ¢} (A)

4. Aball with initial momentum p hits a solid wall and bounces back with £5|f<+t7_déuiuc,ub‘u,u’mlLgb!){c;/lg:ilxﬁfb’;ffél,&,ldgb{! 4
the same velocity. Its momentum p’ after collision will be: %z‘ffu“/fﬁ/'#f

p=-2p (D) p'=2p (C) p'=-p (B) p'=p (A)

5. Aparticle of mass m moving with a velocity v collides with another L“i)‘/ r_gn';%;iu[lé_uu’w ek St vad’ hemy u? w’.{i 5
particle of the same mass at rest. The velocity of the first particle after : d’ (s J Py P )f e

collision is: " ‘

-112 (D) 0 (C) -v (B) v (A)

6. Conservation of linear momentum is equivalent to: ;Ld,p.@‘i,,):’?"‘f, 6

HELS P UF (D) LeSrudie ~ L% (C) Le7udbe 0l oy (B) Lol7uds 74 (A)

None of these Newton's third law of motion Newton's second law of motion Newton's first law of motion

7. Aobject with a mass of 5 kg moves at constant velocity of 10 m . A u’/};M/ufly!-‘ad///&/]cfﬂ;ubgd/ms'1 10&JJL(1/@{5.{! J

constant force then acts for 5 seconds on the object and givesiita Jl-:.&laz...?ms‘12uﬁMJL?&’U:JJMM.&/JQJ'&LA%
velocity of 2 m s in the opposite direction. The force acting on the L o d?n'j/ }:5!; o
object is: ' ¥
-15N (D) -12N (C) -10N (B) 5N (A)
8. Alarge force acts on an object for a very short interval of time. In this L'/()l”u:dlp.;,/r‘u’l:‘L&/Jf/“i(fféié};f}goﬁjjjdfbg 8
case, it is easy to determine: e T
None of these ¥ (/= w1 (D) AL =009 (C) Time interval _1s56=35 (B) =i $uluis (A

Product of force and time Magnitude of force
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9. Alubricant is usually introduced between two surfaces to decrease
friction, The lubricant:

Provides rolling friction LLD/}/LL}{U:J:TWI/M/,/U}V
Prevents direct contact of the
surface

10. A common concept of force is:

Up and down null (D) Both A and B null (C)

Q2. Write short answers of the following questions.

I . What kind of change in motion may be produced by a force?
Il . Give 5 examples of contact forces.

Il . An object moves with constant velocity in free space. How long will the
object continue to move with this velocity?

IV . Define impulse of force.
V . Why has not Newton's first law been proved on the Earth?

VI . When sitting in a car which suddenly accelerates from rest, you are
pushed back into the seat, why?

VII . The force expressed in Newton;s second law is a net force. Why is it
s0?

VIII . How can you show that rolling friction is lesser than the sliding
friction?

IX . Define terminal velocity of an object.

X . An astronaut walking in space wants to return to his spaceship by firing
a hand rocket. In what direction does he fire the rocket?

Q3. Write detailed answers of the following questions.

1. State and explain the principle of conservation of momentum.

2. Aball of mass 0.4 kg is dropped on the floor from a height of 1.8 m. The
ball rebounds straight upward to a height of 0.8 m. What is the
magnitude and direction of the impulse applied to the ball by the floor?

u;‘,-‘guguusutuu';/bé.,{u?/)ru“ALL/{J’/’uwéu}”» 9

aolisl S
< b6, (B) <t 5d B
Acts as ball bearings Decrease temperature
10
null
Work or energy null (B) Apush or a pull null (A)
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